Kansas Counties Under 60,000 Housing Needs and Construction Costs to Replace Poor Housing Condition Inventory

~	Insas Counties	Jnder 60,000	Housing Neec	is and Co	דו	epiace Poor nousing	2 condition live	TICIY
	2020			Housing		lotal Construction	NIN WIN	Required Mili
County	Population I	Households	or Below	Need	Construction Cost	Costs	Contribution	ruius
Allen	12,526	5,010	22.44%	1,124	\$150,000	\$168,650,064	\$25,000	\$28,108,344
Anderson	7,836	3,134	22.95%	719	\$150,000	\$107,901,720	\$25,000	\$17,983,620
Atchison	16,348	6,539	7.42%	485	\$150,000	\$72,781,296	\$25,000	\$12,130,216
Barber	4,228	1,691	13.67%	231	\$150,000	\$34,678,056	\$25,000	\$5,779,676
Barton	25,493	10,197	8.79%	896	\$150,000	\$134,450,082	\$25,000	\$22,408,347
Bourbon	14,360	5,744	13.98%	803	\$150,000	\$120,451,680	\$25,000	\$20,075,280
Brown	9,508	3,803	5.75%	219	\$150,000	\$32,802,600	\$25,000	\$5,467,100
Chase	2,572	1,029	5.13%	53	\$150,000	\$7,916,616	\$25,000	\$1,319,436
Chautauqua	3,379	1,352	10.98%	148	\$150,000	\$22,260,852	\$25,000	\$3,710,142
Cherokee	19,362	7,745	8.80%	682	\$150,000	\$102,231,360	\$25,000	\$17,038,560
Cheyenne	2,616	1,046	13.16%	138	\$150,000	\$20,655,936	\$25,000	\$3,442,656
Clark	1,991	796	10.79%	86	\$150,000	\$12,889,734	\$25,000	\$2,148,289
Clay	8,117	3,247	4.74%	154	\$150,000	\$23,084,748	\$25,000	\$3,847,458
Cloud	9,032	3,613	24.38%	881	\$150,000	\$132,120,096	\$25,000	\$22,020,016
Coffey	8,360	3,344	9.52%	318	\$150,000	\$47,752,320	\$25,000	\$7,958,720
Comanche	1,689	676	6.70%	45	\$150,000	\$6,789,780	\$25,000	\$1,131,630
Cowley	34,549	13,820	9.25%	1,278	\$150,000	\$191,746,950	\$25,000	\$31,957,825
Crawford	38,972	15,589	6.46%	1,007	\$150,000	\$151,055,472	\$25,000	\$25,175,912
Decatur	2,764	1,106	10.39%	115	\$150,000	\$17,230,776	\$25,000	\$2,871,796
Dickinson	18,402	7,361	5.44%	400	\$150,000	\$60,064,128	\$25,000	\$10,010,688
Doniphan	7,510	3,004	7.62%	229	\$150,000	\$34,335,720	\$25,000	\$5,722,620
Edwards	2,907	1,163	17.47%	203	\$150,000	\$30,471,174	\$25,000	\$5,078,529
EK	2,483	993	11.21%	111	\$150,000	\$16,700,658	\$25,000	\$2,783,443
Ellis	28,934	11,574	9.50%	1,099	\$150,000	\$164,923,800	\$25,000	\$27,487,300
Ellsworth	6,376	2,550	10.95%	279	\$150,000	\$41,890,320	\$25,000	\$6,981,720
Finney	38,470	15,388	5.47%	842	\$150,000	\$126,258,540	\$25,000	\$21,043,090
Ford	34,287	13,715	5.40%	741	\$150,000	\$111,089,880	\$25,000	\$18,514,980
Franklin	25,996	10,398	2.58%	268	\$150,000	\$40,241,808	\$25,000	\$6,706,968
Geary	36,739	14,696	4.57%	672	\$150,000	\$100,738,338	\$25,000	\$16,789,723
Gove	2,718	1,087	42.41%	461	\$150,000	\$69,162,228	\$25,000	\$11,527,038
Graham	2,415	966	14.81%	143	\$150,000	\$21,459,690	\$25,000	\$3,576,615

'n			<u></u>	Morton 2,701		mery	=	•		=	Marion 11,823	erson	(I)	5		ਤੌਂ ਹ		(D		3			3		nan		w			ood	Greeley 1,284	Gray 5,653	Grant 7,352	
		•		1,080			·				3 4,729		L-3		•	⊢		t 8,074					3 7,347							2,406	•		2,941	
14.51%	11.33%	4.36%	10.02%	26.28%	12.53%	9.94%	3.65%	0.86%	12.90%	7.37%	17.96%	9.13%	6.78%	22.50%	4.28%	10.31%	8.67%	2.24%	10.11%	12.73%	32.19%	14.69%	0.57%	11.31%	13.40%	21.26%	3.70%	11.25%	48.40%	12.36%	61.39%	3.59%	20.33%	
317	122	277	412	284	270	1,252	85	118	209	296	849	1,104	873	249	164	121	55	181	99	380	513	172	42	599	92	321	504	247	487	297	315	81	598	
\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	\$150,000	
\$47,526,054	\$18,266,226	\$41,604,864	\$61,761,276	\$42,589,368	\$40,491,948	\$187,782,504	\$12,693,240	\$17,642,556	\$31,385,700	\$44,388,036	\$127,404,648	\$165,561,594	\$130,904,172	\$37,287,000	\$24,629,688	\$18,180,654	\$8,187,948	\$27,127,296	\$14,922,360	\$57,055,860	\$76,927,662	\$25,842,648	\$6,281,856	\$89,792,352	\$13,852,920	\$48,217,680	\$75,533,280	\$37,023,750	\$73,122,720	\$44,614,656	\$47,294,856	\$12,176,562	\$89,679,696	
\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	\$25,000	
\$7,921,009	\$3,044,371	\$6,934,144	\$10,293,546	\$7,098,228	\$6,748,658	\$31,297,084	\$2,115,540	\$2,940,426	\$5,230,950	\$7,398,006	\$21,234,108	\$27,593,599	\$21,817,362	\$6,214,500	\$4,104,948	\$3,030,109	\$1,364,658	\$4,521,216	\$2,487,060	\$9,509,310	\$12,821,277	\$4,307,108	\$1,046,976	\$14,965,392	\$2,308,820	\$8,036,280	\$12,588,880	\$6,170,625	\$12,187,120	\$7,435,776	\$7,882,476	\$2,029,427	\$14,946,616	

	•	ÇOSC,TOT,OCO		4,217		421,654	1,054,136	
\$105,413,600		\$622 A91 600	ουυ,υστ ς	12	1%	1,246	3,115	Woodson
\$311,500	\$25,000	\$1,869,000	\$1E0 000	. U	1%	3,450	8,624	Wilson
\$862,400	\$25,000	\$5,174,400	\$150,000	υ	10/	0 450	2,152	Wichita
\$215,200	\$25,000	\$1,291,200	\$150,000	ا م	18	061	5,530	Washington
\$553,000	\$25,000	\$3,318,000	\$150,000	22	1%	2 212	1 10 10 10 10 10 10 10 10 10 10 10 10 10	Wallace
\$152,000 \$152,000	525,000	\$907,200	\$150,000	6	1%	605	1 512	Wallaco
\$151 <u>200</u>	\$25,000 \$25,000	\$4,126,200	\$150,000	28	1%	2,751	6,877	Wabaunsee
\$687,700	\$25,000 \$10,000	\$1,007,000	\$150,000	11	1%	1,123	2,808	Trego
\$280,800	\$25,000	\$1 684 800	\$150,000	32	1%	3,172	7,930	Thomas
\$793,000	\$25,000	\$4 758 000	\$150,000	90	1%	8,953	22,382	Sumner
\$2,238,200	\$25.000	¢13 479 700	\$450,000 \$450,000	21	1%	2,100	5,250	Stevens
\$525,000	\$25,000	\$3.150.000	\$150,000	2 0	1% 1%	834	2,084	Stanton
\$208,400	\$25,000	\$1,250,400	\$150,000	o c	170	1,629	4,072	Stafford
\$407,200	\$25,000	\$2,443,200	\$150,000	16	2 3	1 620	3,370	SMITH
\$357,000	\$25,000	\$2,142,000	\$150,000	14	1%	1 428	3 570	Sielilali
\$352,700	\$25,000	\$3,556,200	\$150,000	24	1%	2.371	5 927	charmon .
¢E07 700	\$25,000 \$35,000	\$1,400,200	\$150,000	10	1%	979	2.447	Sheridan
\$244.700	425 000 425 000	\$1,470,100	\$150,000	88	1%	8,786	21,964	Seward
\$2,196,400	\$25,000	\$13 178 400	\$150,000	2 -	1%	2,060	5,151	Scott
\$515,100	\$25,000	\$3.090.600	\$150,000			21,/21	54,303	Saline
\$5,430,300	\$25,000	\$32,581,800	\$150,000	217	18,	2,070	169,6	Russell
00T,699\$	\$25,000	\$4,014,600	\$150,000	27	1%	2676	2,550	Rusn
\$550,000	\$25,000	\$1,773,600	\$150,000	12	1%	1.182	2 076	Duck
\$30E 500	22,000	\$2,951,400	\$150,000	20	1%	1,968	4.919	Rooks
\$491 900	\$25,000 \$10,000	\$5,050,200	\$150,000	38	1%	3,771	9,427	Rice
\$942,700	\$25,000	¢E 656 200	\$150,000 \$150,000	19	1%	1,870	4,674	Republic
\$467,400	\$25,000	\$2,804,400	\$150,000	10	1%	1,024	2,561	Rawlins
\$256,100	\$25,000	\$1 536.600	\$4E0 000	, .	170	3,663	9,157	Pratt
\$915,700	\$25,000	\$5,494,200	\$150,000	27	10/	5555	25,348	Pottawatomie
\$2,534,800	\$25,000	\$15,208,800	\$150,000	101	2 :	10 10 1 10 1 0 1	4,542	rniiips
001,064¢	525,000	\$2,988,600	\$150,000	20	1%	1 997	A 091	
\$400 400	525,000		\$150,000	25	1%	2.501	6.253	Dawnee
\$625,300	42E 000		\$150,000	23	1%	2,294	5,735	Ottawa
\$573,500	\$25 000 \$100		\$150,000	14	1%	1,400	3,500	Osborne
\$350,000	\$25,000	\$2 100 000	**************************************	. 0	1%	6,306	15,766	Osage
\$1,576,600	\$25,000	\$9,459,600	\$150,000	C 2	3)))		

•		

Funds	Contributi	Costs C	 2020 Housing Housing Construction Cost	PeeN	Housing Housing		2020	
MIH Required MIH	MI	House Total Construction	Kansas Counties Under 60,000 Housing Needs and Construction Costs to replace 270 Construction	ng Needs	0,000 Hous	nties Under 6	Kansas Cou	

	Kansas Cour	2020 Housing Housing	Housing 1	Housing	House	Total Construction		Required MIH
County		Households	Shortage	Need	Construction Cost		Contributi	\$1 252 600
Allen	12,526	5,010	1%	50	\$150,000	009 tot /¢	\$25,000	\$783,600
Anderson	7,836	3,134	1%	31	000,000	000,400,400	\$35,000 \$1,	\$1,634,800
Atchison	16,348	6,539	1%	65	\$150,000	\$9,000,000	425,000 425,000	\$422,800
Barber	4,228	1,691	1%	17	\$150,000	\$2,536,800	\$25,000 \$25,000	300ر£47¢ ما00 مار
Barton	25,493	10,197	1%	102	\$150,000	\$15,295,800	\$25,000	\$2,345,300
Bourhon	14.360	5,744	1%	57	\$150,000	\$8,616,000	\$25,000	000 0304 000,004,1¢
Provin	9 508	3.803	1%	38	\$150,000	\$5,704,800	\$25,000	\$950,800
Chaso	2 572	1,029	1%	10	\$150,000	\$1,543,200	\$25,000	\$257,200
Chase	2 270	1 357	1%	14	\$150,000	\$2,027,400	\$25,000	\$337,900
Charles	10 262	7745	1%	77	\$150,000	\$11,617,200	\$25,000	\$1,936,200
Cheronee	2616	1,046	1%	10	\$150,000	\$1,569,600	\$25,000	\$261,600
Clark	1 001	796	1%	0 0	\$150,000	\$1,194,600	\$25,000	\$199,100
Clay	8 117	3.247	1%	32	\$150,000	\$4,870,200	\$25,000	\$811,700
Cloud	9.032	3,613	1%	36	\$150,000	\$5,419,200	\$25,000	\$935,200
Coffey	8,360	3,344	1%	33	\$150,000	\$5,016,000	\$25,000	\$656,000
Comanche	1,689	676	1%	7	\$150,000	\$1,013,400	\$25,000 000,02¢	42 /5/ QOD
Cowley	34,549	13,820	1%	138	\$150,000	\$20,729,400	\$25,000 \$25,000	
Crawford	38,972	15,589	1%	156	\$150,000	\$23,383,200	\$25,000 000,02¢	
Decatur	2,764	1,106	1%	11	\$150,000	\$1,658,400	\$25,000 000,62¢	٠.
Dickinson	18,402	7,361	1%	74	\$150,000	\$11,041,200	לאב מממ	
Doniphan	7,510	3,004	1%	30	\$150,000	\$4,506,000	42E 000	
Edwards	2,907	1,163	1%	12	\$150,000	\$1,744,200	925,000 000,62¢	
쯪	2,483	993	1%	10	\$150,000		\$25,000	ς.
Ellis	28,934	11,574	1%	116	\$150,000	, 1000, 14¢	\$25,000	
Ellsworth	6,376	2,550	1%	26	\$150,000	n.	\$25,000	Ñ
Finney	38,470	15,388	1%	154	\$150,000		\$25,000 \$10,000	
Ford	34,287	13,715	1%	137	\$150,000		425 000 625 000	
Franklin	25,996	10,398	1%	104	\$150,000	÷22,242		
Geary	36,739	14,696	1%	147	\$150,000	•	\$25,000 \$25,000	
Gove	2,718	1,087	1%	11	\$150,000			
Graham	2,415	966	1%	10	\$150,000	0 44,445,000		

\$943,114,187		\$5,658,685,122		37,725		421,654	1,054,136	
\$355,110	\$25,000	\$2,130,660	\$150,000	14	1.14%	1,246	3,115	Woodson
\$5,174,400	\$25,000	\$31,046,400	\$150,000	207	6.00%	3,450	8,624	Wilson
\$4,441,728	\$25,000	\$26,650,368	\$150,000	178	20.64%	861	2,152	Wichita
\$6,436,920	\$25,000	\$38,621,520	\$150,000	257	11.64%	2,212	5,530	Washington
\$1,667,736	\$25,000	\$10,006,416	\$150,000	67	11.03%	605	1,512	Wallace
\$8,479,341	\$25,000	\$50,876,046	\$150,000	339	12.33%	2,751	6,877	Wabaunsee
\$3,021,408	\$25,000	\$18,128,448	\$150,000	121	10.76%	1,123	2,808	Trego
\$6,217,120	\$25,000	\$37,302,720	\$150,000	249	7.84%	3,172	7,930	Thomas
\$30,551,430	\$25,000	\$183,308,580	\$150,000	1,222	13.65%	8,953	22,382	Sumner
\$11,555,250	\$25,000	\$69,331,500	\$150,000	462	22.01%	2,100	5,250	Stevens
\$6,895,956	\$25,000	\$41,375,736	\$150,000	276	33.09%	834	2,084	Stanton
\$4,841,608	\$25,000	\$29,049,648	\$150,000	194	11.89%	1,629	4,072	Stafford
\$7,582,680	\$25,000	\$45,496,080	\$150,000	303	21.24%	1,428	3,570	Smith
\$4,717,892	\$25,000	\$28,307,352	\$150,000	189	7.96%	2,371	5,927	Sherman
\$2,038,351	\$25,000	\$12,230,106	\$150,000	82	8.33%	979	2,447	Sheridan
\$17,461,380	\$25,000	\$104,768,280	\$150,000	698	7.95%	8,786	21,964	Seward
\$6,469,656	\$25,000	\$38,817,936	\$150,000	259	12.56%	2,060	5,151	Scott
\$16,345,203	\$25,000	\$98,071,218	\$150,000	654	3.01%	21,721	54,303	Saline
\$13,422,146	\$25,000	\$80,532,876	\$150,000	537	20.06%	2,676	6,691	Russell
\$2,282,032	\$25,000	\$13,692,192	\$150,000	91	7.72%	1,182	2,956	Rush
\$3,576,113	\$25,000	\$21,456,678	\$150,000	143	7.27%	1,968	4,919	Rooks
\$20,381,174	\$25,000	\$122,287,044	\$150,000	815	21.62%	3,771	9,427	Rice
\$10,586,610	\$25,000	\$63,519,660	\$150,000	423	22.65%	1,870	4,674	Republic
\$4,207,723	\$25,000	\$25,246,338	\$150,000	168	16.43%	1,024	2,561	Rawlins
\$8,204,672	\$25,000	\$49,228,032	\$150,000	328	8.96%	3,663	9,157	Pratt
\$27,451,884	\$25,000	\$164,711,304	\$150,000	1,098	10.83%	10,139	25,348	Pottawatomie
\$6,923,590	\$25,000	\$41,541,540	\$150,000	277	13.90%	1,992	4,981	Phillips
\$10,123,607	\$25,000	\$60,741,642	\$150,000	405	16.19%	2,501	6,253	Pawnee
\$7,025,375	\$25,000	\$42,152,250	\$150,000	281	12.25%	2,294	5,735	Ottawa
\$8,340,500	\$25,000	\$50,043,000	\$150,000	334	23.83%	1,400	3,500	Osborne
\$5,912,250	\$25,000	\$35,473,500	\$150,000	236	3.75%	6,306	15,766	Osage

Josh Roe

iroe@ksgrains.com

2/28/2022